CENERAL NOTES: : Bl A ey ol
1. "THIS PRODUCT HAS BEEN TESTED, ANALYZED & APPROVED FOR DESIGN 155 13/16" MAX. FRAME WIDTH (4—PANEL DOOR) 5 /07 NSTALATON OF Ao GTHER PRGDUCT NOR a [FET— mﬁ:;z;/.ns
ggggggggswgg[(gnlzxcssn THOSE SHOWN IN THE "ALLOWABLE DESIGN 5" VAX. ', %ﬁ% Hi‘% 'ﬁiﬁi"% ‘_‘ v ég:} 'BEEJE‘S’:%%E CSFTSED g\,}:,%g:”bCAE%D@RT'%%”T’F;T’%L‘“ =
2. OPENINGS, BUCKING & BUCKING FASTENERS MUST BE PROPERLY &/ ST ————| ININIS
DESIGNED & INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE. -2 LAvAvA-AvA-Avd vvvYvew T vYvvyvwyw v J CORNER CONSTRUCTION: z NN
3 i HeRDIRE R A o e N ! | 4" MAX. FRAME (WITH STANDARD RAISED SILL): MENBERS ARE MITERED, al il
DRAWINGS. SPECIFIED ANCHOR EMBED TO BASE MATERIAL SHALL BE » // // // // ?gT’;f’fEDR 8;( E‘#OlgEZE\éﬁR(Engchgg)%% l;?/i s(lTiMz'tLp ;&Cs’; 5 E g g
EEYQ[T-RSWQIRJ(-)Dﬂg'IrS}:iA%RBSEE%C%%SIGNED IN ACCORDANCE WITH AND MEETS 5 CONE PINS. CORNERS ARE SEALED WITH SILICONE SEALANT. 3
- v, FLUSH SADDLE SILL: MEMBERS ARE SQUARE CUT, BUTTED & alals
THE REQUIREMENTS OF THE FLORIDA BUILDING CODE (FBC) INCLUDING HIGH =3 N L e o o e 5| 2|8]2
VELOCITY HURRICANE ZONES (HVHZ) & IS LARGE MISSILE IMPACT RATED. 0 OPPOSITE OPPOSITE SoREWS AT T S Yo e X /et scrws |E| 2|2 :

5. MPACT SHUTTERS ARE NOT REQUIRED WITH THIS PRODUCT. S |B) JA JO C B AT THE VERTICAL MEMBER. CORNERS ARE SEALED WITH A HEHE
6. ALL ANCHORS SECURING PRODUCT FRAMES TO PRESSURE TREATED 23 5 < < < s - > - A THE VERTICAL MEMBER. HEHE
BUCKS OR WOOD FRAMING SHALL BE CAPABLE OF RESISTING CORROSION =< &/ &/ &/ &/ N AN wiTeReD, BUMTED & Jone v ||° | 3| |8
CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE WOOD. » T b —~——— | — — - q &A—H s s ro s & i e comen kv s 12| 2|51
7. DETERMINE THE POSITVE & NEGATIVE DESIGN LOADS TO USE WHEN -E s I (2) #14) HEBE
REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING == | SECURED BY CRIMPING (2)TWO LEGS EACH PANEL. CORNERS  [[Z] 1l 5|y
CODE AND GOVERNNG WD VELOCIY. | gogog/éNDA L&QI%C%%I.'SI:JLIFTAJ\OFPA(S:T?R ER @\ @\ /_@ ARE SEALED WITH SILICONE SEALANT. HHEEH
ACCORDANCE WITH THE FLORIDA BUILI , I } i
OF Kd = 0.85 MAY BE APPLI%D ISERUTHE AS(:E—7T SETAI;?:/;!E%S T COME 'g S » LOCK HINGE | Lok K ; (1) ALLOWABLE DESIGN s[=[s]5
8. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL , THA Y = ” )
INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE o L‘IJ = ) /—@ 1 o gAX PRESSURE WITH ADA SILL
REQUIREMENTS OF FLORIDA BUILDING CODE. Y. HANDLE HANOLE .C. A VX ALLOWABLE
9. 10 THE BEST OF OUR KNOWLEDGE, THE PRODUCT SHOWN HEREN IS wz © p 4 . .
QUALITY ASSURED BY A FLORIDA STATE APPROVED CERTIFICATION/QA ENTITY = & FRAME D.L.O. PRESSURE
& SHALL BE LABELED IN ACCORDANCE WITH THE FBC AND THE FLORIDA T HEIGHT WIDTH (PSF)
DEPARTMENT OF BUSINESS & PROFESSIONAL REGULATION SPECIFICATIONS. % o MIDDLE ANCHOR SHOWN AT (IN.) (IN.) P0S.TNEG
R S e ey oy, 22T g VEETNG STLE END LOCATONS : ) el 2x
INSTALLATION & . 2
THROUGH TESTING & ENGINEERING RATIONAL ANALYSIS. PRODUCT ASSEMBLY = %, L 313/8" | IS ONLY REQUIRED WITH SINGLE 31 3/8 | 70.0] 70.0 oD
B R ProNs . TLaG REPORTSTCIURERS g 1 MAX. D.L.O. ROW ANCHOR CONDITION (N/A 0 775 | 283/8 | 758/ 758 gap
QUALITY ASSURANCE S A . ©
10. CERTIFICATION OF THIS PRODUCT SHALL BE CONSIDERED VOID IF T 1S N o» > WITH DOUBLE ROW ANCHORS) g%ﬁ_\ b 25 3/8 | B2.5| 82.5 |—o§ 0
INSTALLED WITHOUT A BUILDING PEngT FLROM THE APPUEAg]I:EEIﬁO%LN N 0 o HINGE 22 3/8 | 90.0{ 90.0 gg E‘:p
BUILDING DEPARTMENT OR IF IT IS INSTALLED BY ANYON Al
LICENSED CONTRACTOR EXPERIENCED WITH INSTALLATIONS OF THIS TYPE OF 3 E // % % % N 31 3/8 | 745|745 4= b
PRODUCT. L TR 93 7/8 28 3/8 | 80.6] 80.6 g SUs3
. [es]
HINGE REQUIREMENTS == AAAAALEA AAAALAL EAARBAL I 25 3/8 | 87.8|87.8 z| =2
SEE CORNER ) q « 24 3/8 | 90.0] 90.0 £| 225
5 PER PANEL (ALL PANEL SIZES) CONSTRUCTION 31 3/8 | 79.6] 79.6 of*
PLACED APPROXIMATELY 5" & 13" FROM DESCRIPTIONS 87 7/8 28 3/8 86V1 86.1 z B
TOP & BOTTOM & AT MIDDLE OF PANEL ON THIS SHEET - - g i3
INTERIOR ELEVATION; FRAME SCREWS WHERE 26 3/8 | 900] 90.0 3 5
FRAME ANCHOR REQUIREMENTS TABLE SHOWN. SEE "FRAME 31 3/8 | B84.4] 844 o B
2 DIRECTION FOLDING PANELS ANCHOR REQUIREMENTS 82 7/8 |—5573/8 T90.0] 900 5 =
FRAME SCREWS SCALE: 1/2" = 1'-0” TABLE” ON THIS SHEET 0] 90. 2| o3
FOR R 1) WHEN AN FLUSH Zo
OPENING TYPE FRAME TO OPENING FASTENER TYPE M‘“'“‘““‘ MINIMUM (4—PANEL DOOR SHOWN. SEE SHEET 4 FOR EQUIREMENTS |(S)USE§ THESELDOOR%A'i\%LEE NS(')LTL =| 28 ,
(SUBSTRATE) EMBED |{EDGE DIST. (APPLICABLE TO SINGLE 3 b 3
0l OTHER DOOR PANEL QUANTITY CONDITIONS AND OR DOUBLE ROW OF APPROVED FOR USE WHERE % %O =3
e SINGLE SCREW ROW RESTRICTIONS.) SCREWS). WATER INFILTRATION RESISTANCE s | 8753
MIN. 2X4 WOOD FRAMI » B IS REQUIRED BY THE DOOR n [ |
4
(MIN. GR. 3 & 6=0.55) NO. 14 SMS OR WOOD SCREW |1 1/4"| 3/ UNLESS UNITS ARE INSTALLED IN 1 m“—%%ﬁ
MIN. 16 GA. 33 KSI METAL STUD 1/4” GR. 5 SELF TAP/DRILL SCREW | FULL 1/2" NON—HABITABLE AREAS WHERE - Wo Ceg
- I P
MIN. 1/8" THK A36 STEEL 1/4" GR. 5 SELF TAP/DRILL SCREW | FULL 1/2 ALLOWABLE DESIGN PRESSURE WITH STANDARD SILL g'gglelﬁ‘ég ?OT:(?C@‘;%AWQ?ER ~ E'—? Bg;
” — ” ” ALLOWABLE PRESSURE (PSF] =} 5 .56
MIN. 1/8” THK 6063-T5 ALUM. 1/4" GR. f) SELF TAP/DRILL SCREW 1Fl‘|JLI;n 21{22" F)\Igﬁ)'\;t DMlL\)é) s s GLAS(S ) e INFILTRATION OR THEY ARE gmj éag §:E
e P S 2UZ | GEoer | wiomi | oPron | oPTN | OPTIN | OPTION ~f~ oot SHEET 7 |INSTALLED ONLY AT LOCATIONS e |5=8 ¢
MIN. 2500 PSI CONCRETE (2) 1/4” CONCRETE SCREW 11/2" | 21/2 (N) () 1 s g4 5 5 6 (F)%%O%Lé\ss PROTECTED BY A CANOPY OR 2 5
: - 4 OVERHANG WHERE-BY THE o=
o FRAVE OR BUCK DOUBLE SCREW ROW POS. | NEG. | POS. | NEG. | POS. | NEG. | POS. | NEG. OVERHANG(OH) RATIO IS EQUAL ST
(3) MIN. (2»;(13 D P o <5) NO. 10 SMS OR WOOD SCREW |1 1/4" | 3/4" 31 3/8 |70.0 [100.0] 70.0 | 87.4 | 70.0 | 94.3 | 70.0 | 99.8 T0 OR MORE THAN 1.0 PER FBC. |53 o F i
'. . - 28 3/8 |75.8 [108.2|75.8 |105.0| 75.8 {108.2| 75.8 {108.2
MIN. 18 GA. 33 KSI METAL STUD NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2 99 5/16 25 3/8 1800 ]1100]30.0 1100/ 80.0 [170.0 800 [110.0
MIN. 1,/8 THK AS6 STERL NO. 10 GR. 5 SELF TAP/ORILL SCREW) FULL 1/2,, 22 3/8 |80.0 [110.0]80.0 [110.0] 80.0 [110.0| 80.0 |110.0| | EVALUATION OF THIS PRODUCT IS BASED ON APPLICABLE
MIN. 1/8” THK 6063-T5 ALUM. NO. 10 GR. 5 SELF TAP/DRILL SCREW| FULL 1/2 STANDARDS AND/OR INFORMATION & RESULTS FROM
MIN. C-90 CMU @ 1/4” CONCRETE SCREW RS 31 3/8 | 745 |106.4|74.5 | 92.9 | 74.5 |100.0| 74.5 |106.0| | op\ichgLe TEST REPORTS. THE FLORIDA BULDING CODE
- - m - 93 5/16 | 28 3/8 |80.0 {110.0|80.0 |107.0| 80.0 |110.0| 80.0 {110.0| | VERSION CONSIDERED WITH THIS EVALUATION WAS THAT IN
MIN. 2500 PSI CONCRETE (2) 1/4" CONCRETE SCREW 1.1/2 2 FORCE AT THE TIME OF THE EVALUATION. IN THE EVENT OF
. 25 3/8 |80.0|110.0|80.0 |110.0|80.0 |110.0|80.0 |110.0} | cope VERSION CHANGES/UPDATES OR IN THE EVENT THAT
(1) WHEN SINGLE SCREW ROW ANCHORING METHOD IS USED SCREWS MUST HAVE A #3/4 31378 1796 17001796 1975 1796 110501 79.6 1170.01 | NEW OR ADDTIONAL TESTNG IS COMPLETED ON THIS
0.D. FLAT WASHER AT THE SCREW HEAD. 87 5/16 PRODUCT, PRIOR TO STATING CODE COMPLIANCE WITH THE
(2)  CONCRETE SCREWS SHALL BE FLCO ULTRACONS (C.S.), ELCO CRETE-FLEX (S.S.), MW 28 3/8 |80.01110.0|80.0 |110.0|80.0 {110.0|80.0 |110.0] | STATE, THE WANUFACTURER SHALL'CONFIRM WITH THE
T I3 EVALUATION ENGIN ORD THA
RAMSET/RED HEAD TAPCONS (C.S. OR S.S.) OR HIL;FI KWIK—CON Il (C.S O.R S.S.). 82 5/16 31 3/8 |80.0 |110.0] 80.0 {102.0} 80.0 {110.0| 80.0 |110.0 SPECIHED HERE—IN IS CURRENT WITH ALEVCURREm? TESTING,
3) 2X6 WOOD BUCK MAY BE RIPPED DOWN TO 4 1/2" PROVIDING THAT REQ'D SCREW TO 28 3/8 |80.0 |110.0] 80.0 [110.0] 80.0 [110.0] 80.0 |110.0| | CODES AND APPLICABLE STANDARDS. SHEET NO.
BUCK EDGE DISTANCES ARE MAINTAINED. 1 o




155 7/16" MAX. FRAME WIDTH (4—PANEL DOOR) e 116 11/16" MAX. FRAME WIDTH (3—PANEL DOOR)
Avd AvAvAvi AvAvAvs VVVYVVV AvAVAvAAvAvAve T Avd ‘ Avd 1 VVVV’IVVV AvAvAvAAvAvAvd I Ava {
4 1 : 4" MAX. 1 i ! ‘ ] [ &7 MAX.
; 7 % 7 % j % % 7 !
7] . | | 7 . {
g % » OPPOSITE OPPOSITE OPPOSITE N % % A \ t OPPOSITE | OPPOSITE a
S5 JAA) - L JAA) - JA - /A Ss JAAN N VA jaa\ B3
=< \&/ &/ &/ GTY =< |\&/ e &/ ~ &J v N2 A
% z B SIMILAR k I z 5 \ — — K
T=0o e —_—— —— —_ =N
£Z S | 29 W@ | @~
= g
— 5 D N g%(\ @(\ 3 — g Q N r LOCK \\ LOCK I W
s % i ] 12" wax, OS2 X 12" MAX
o = . ] = .
z g o s /—H?I\%LE || naDLE L o.c. hIJ '%" o N /" HANDLE | L navpe 3 0.C.
2ES | roosES /1 f
- @)~ -
t3o HINGE MIDDLE ANCHOR SHOWN AT z° / MIDDLE ANCHOR SHOWN AT
2= > M| | MEETING STILE END LOCATIONS N z= P MEETING STILE END LOCATIONS N
?rg IS ONLY REQUIRED WITH SINGLE ??Q / IS ONLY REQUIRED WITH SINGLE
o R ROW ANCHOR CONDITION (N/A © N ROW ANCHOR CONDITION (N/A
Seo B | WITH DOUBLE ROW ANCHORS) @,\ K 52 > / % WITH DOUBLE ROW ANCHORS) @_\ K
|
2} HINGE o)) HINGE HINGE
o N > / N
7 7 7 Y Vi 7 Y
g <
I ! 1 47 MAX s 47 MAX
O AAAAAAAD AAAARALRA AAAAALRA 4 f 4 ALAADAAA AAAAALAA q Y {
N Y 4 N
N 4 4 N

INTERIOR ELEVATION:

(1 _DIRECTION FOLDING )

SCALE: 1/2" = 1'=0
(4—PANEL DOOR SHOWN.

PANELS

SEE SHEET 4 FOR

OTHER DOOR PANEL QUANTITY CONDITIONS AND

RESTRICTIONS.)

FRAME SCREWS WHERE
SHOWN. SEE "FRAME
ANCHOR REQUIREMENTS
TABLE” ON SHEET 1 FOR
REQUIREMENTS
(APPLICABLE TO SINGLE
OR DOUBLE ROW OF

SCREWS).

INTERIOR ELFVATION;

1_DIRECTION FOLDING PANELS WITH SWING PANEL

(3—PANEL DOOR SHOWN.

LOCKING TO JAMB)
SCALE: 1/2" = 1'=0"
(ACTVE SWING DOOR SHOWN WITH MULTI-POINT LOCK.

DEADBOLT/FLUSH BOLT LOCK COMBINATION ALSO APPLIES)

SEE SHEET 4 FOR

OTHER DOOR PANEL QUANTITY CONDITIONS AND
RESTRICTIONS.)

REVISION DESCRIPTION

NO.

o
ZxY
E2
T
2o
e}
Brdw
o
53,12
ouLy
=
nl| 2854
g | 523
2| =2
5=
IR=
L
o L
Z |2
o je
i
(el =]
[ F
— =
Q >
< | 0o
g 23
= 5'0 ©
ol ug 3
z| 2257
=] 2_.9%3
n 5.1
| o 93
=z ® Qv
=z Ew"gz
M LiZ £E00
T | £5 %8
" 4
30 |83 582
F0 202 22T
e 528732
F 2;0 a
I L

il
L e

Bl WARREN w.

W
1636

(@]

SHEET NO.

o 8




153 15/16" MAX. FRAME WIDTH (4—PANEL DOOR) 116 11/16” MAX. FRAME WIDTH (3—PANEL DOOR)
5 MAX. — ’7 3737373733, ’ 373337373 37373"3"373") _‘ l— 5" MmAX. 5" MAX. —| }y 373"3"373"3" 373737333 ’ _‘ l— 5" uAx.
Avd VVVYVVV AvAvAvd ! Avd ‘ Avd 1 VVVV AvAvAvAvAvAvivl Ava {
| l } T NAX. l : b 4” MAX.
- 4 % // / ﬂ‘%@ - Y // 7
E_J 4 -
- )
% n P OPPOSITE ] / \ OPPOSITE g »n / OPPOSITE OPPOSITE N
S5 /BN VA N / V2 N\ B S5 B N | (B
=< &IV &/ e &/ ~ &/ v Gy =< |\ / \&/ v ~ G/
; § 5 P —— INACTIVE ACTIVE 2 § S @\ —>@x _ k
= i = ]
= : @ AN =,
._g e N LOCK N @\ | / | . e / LOCK LOCK b |
T > HINGE LOCK I
S¥Z ™ /D’Egm 127 M. BEZ 127 MAX.
Ty HANDLE o.C. ._,I_. B HANDLE N\ /H%%.E 0.C.
E5 \ Vi /H‘ANDLE / r 3E» \ : T
- % B =
Lz MIDDLE ANCHOR SHOWN AT B 2@ AN MIDDLE ANCHOR SHOWN AT
= P 31 378" __| || [MEETING STILE END LOCATIONS 5 = MEETING STILE END LOCATIONS N
) ~— WX, B.LO. IS ONLY REQUIRED WITH SINGLE / ??Q AN IS ONLY REQUIRED WITH SINGLE
13? ROW ANCHOR CONDITION (N/A EEEN ROW ANCHOR CONDITION (N/A
S > /@ WITH DOUBLE ROW ANCHORS) AN ﬁ % > /_@ WITH DOUBLE ROW ANCHORS) K
o HINGE o LOCK  HINGE o HINGE
& (| Z Y N > 7 Y7,
4 Z 4\l 2N, i | Z 7
4" MAX. 4”7 MAX.
Ay Y- Y- Y- Y- XY q AAAKAAA VY Y-} OAA 4 ' 4 AAAARAAADL AAAALKADRN A f
2 N P N

\/ N I /
I 1
| \
/ \
INTERIOR ELEVATION:

(1 _DIRECTION FOLDING PANELS WITH DOUBLE SWING

PANELS
SCALE: 1/2" = 1'=0"
(ACTIVE SWING DOOR SHOWN WITH DEADBOLT/FLUSH BOLT LOCK
COMBINATION. MULTI—=POINT LOCK ALSO APPLIES)
(4—PANEL DOOR SHOWN. SEE SHEET 4 FOR
OTHER DOOR PANEL QUANTITY CONDITIONS AND
RESTRICTIONS.)

FRAME SCREWS WHERE
SHOWN. SEE "FRAME

ANCHOR REQUIREMENTS
TABLE” ON SHEET 1 FOR

REQUIREMENTS

(APPLICABLE TO SINGLE

OR DOUBLE ROW OF
SCREWS).

INTERIOR E1EVATION;

(SWING PANEL LOCKING TO 1 DIRECTION

FOLDING PANELS

SCALE: 1/2" = 1'-0"

(ACTIVE SWING DOOR SHOWN WITH MULTI—POINT LOCK.
DEADBOLT/FLUSH BOLT LOCK COMBINATION ALSO APPLIES)

(3—PANEL DOOR SHOWN.
OTHER DOOR PANEL QUANTITY CONDITIONS AND

RESTRICTIONS.)

SEE SHEET 4 FOR

REVISION DESCRIPTION

E

SL—73 IN—SWING IMPACT FOLDING PANELS

DRAWII

MANUFACTURER

707 REDWOOD HIGHWAY

NANA WALL SYSTEMS, INC
MILL VALLEY, CA 94941
800-873-5673

CONSULTANTS

7480 150TH COURT NORTH

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A, (CA 6809)
PALM BEACH GARDENS, FL 33418

PHONE: 561-744—3424

22019

W. SCHAEFER, P.E.
LE. NO. 44135

3

SHEET NO.

o 8




it

L EEE (EEH (D T
TITLE mlm | FEEEEE

\ I

A

WHILE UP TO 8 PANELS IN ONE OPENING IS SHOWN,
THERE IS NO LIMIT TO THE NUMBER OF PANELS IN
ONE DOOR FRAME OPENING PROVIDING THE OPENING IS
DESIGNED TO SUPPORT THE LOADS TRANSFERRED FROM
THE DOOR SYSTEM, THE OVERALL FRAME WIDTH OF THE
DOOR DOES NOT EXCEED 344", AND THE D.L.O. WIDTH
OF EACH PANEL DOES NOT EXCEED 31 3/8".

THTAE

CONDITIONS SHOWN ARE THE MAJORITY OF
THOSE USED. OTHER CONDITIONS OF FOLDING
& SWING PANELS APPLY PROVIDING THEY ARE
WITHIN THE SCOPE OF THE DETAILS WITHIN
THIS DRAWING.

I

NO.| REVISION DESCRIPTION

; RAWING NO. |REV.
1636 | C

)
Zx S
=2
TS m
LooR
BT«
25,
o
oM
ouly
=
202

gl =g

z| 352

o ~=

) 5§

2k

9

O =3

fre Z

- B

5 =

<] 08

Ll Zo

Z2| 20 »
x5 =

ol wg .3

z| 2287

= O  o.¢
Z g ZEm

(7208 I N

1 o B4y

4 o oWy

= Lics OF -

| hZ £38
~ <K Bzu

Ldl I_l —0Z

ko2 om0
n o f

0 zn@ 3

5.6"3
= 220 &

< z .

z |8z
=y
g -
P

[
= (LY

SHEET NO.

4 o 8




ggF‘?SII:RQ/IlaEBXNgL%E?RS \'—;VS@:ERS%FEERWE\CIQXTION SESS?FRSII\EEBZNgL%%RS FRAME SCREW WITH
REQUIREMENTS TABLE™ REQUIREMENTS TABLE™ WASHER PER ELEVATION w
E B C SEALANT BY OTHERS s
- SUBSTRATE BY
OTHERS PER ] 5 3 5
3/8” MAX. SHIM 3/8" MAX. SHIM ;FE%AJ?E ANCHOR -
AT EACH ANCHOR AT EACH ANCHOR REMENTS 2
( f TABLE” [EXTERIOR] :
3 &
- — — FRAME SCREW = D ) ~ g
B~ SEALANT BY SEALANT By  WITH WASHER g
D OTHERS D OTHERS PER ELEVATION i 2
W)/ | ]
DaN 1 1 S g
~ &y .
- = i
< 5 5 i o cane
@\ : D] DETALS ON
SHEET 7
] L] ©® O 50 51\@
: . ., 21
% 3/8° MAX. SHIM FRAME WIDTH 95 o
AT EACH ANCHOR SECTION /5 £x3
B NILIm
T EXTERIOR z EXTERIOR SCALE: 1/2 FULL \5/ 5225
& L ] is (FOR SEAL AT HINGE LOCATION NOT SHOWN, SEE SECTION C/5) EQU |
»  SEE GLAZING N @@ @@ Suh
pa— — L — 0
2 DELS ON \//33 : T N EEE
g SHEET 7 \ & dl| £33
XTER!OR 4 <z»:.\_—‘_,
A 3 = m<z»:.‘3§
9 \ C 32 : 2
= 3k
‘ <l
@\ i [ ! i ! —CskE ouzG - E
A . , DETALL ON el =
1/4” X 1 3/16 2] -3
s L SLOT AT EACH SHEET 7 £l 23
= PANEL MID—SPAN =[ 28 .
o | ¥sa2
: N 2| 256
ﬁ SEALANT BY SEALANT BY = 2, %3
- OTHERS OTHERS P | Yo kgt
=z o _gWy
SECTION /2 o Seg
RO , T o SRR SCALE: 1/2 FULL \Bo/ N £E Bzu
L 3/8" MAX. SHIM OR 3/8" MAX. SHIM OR RATE BY OTHERS FOR HINGE DETAIL NOT SHOWN, SEE SECTION B/S B 203 g82
GROUT AT EACH ANCHOR 3$S§,£§ALEERBY GROUT AT EACH ANCHOR SEESIFQAS,E ANCHOR ( ' , /5) E"’ 0288
"FRAME ANCHOR FRAME SCREW WITH REQUIREMENTS TABLE” CONTINUOUS SILICONE SEALANT BETWEEN MEMBERS = §;8 &
-
R oo WiTH REQUIREMENTS  wasper per eLevarion _ SECTION /79y /@ < %.__JS}*S
ECEVATFONPER TABLE SCALE: 1/2 FULL \5/ v EXTERIOR .
~
SECTION /7y (FOR DETAIL NOT SHOWN, SEE SECTION A1/5) \
SCALE: 1/2 FULL 5/ nl
* STANDARD LOW PROFILE SILL RAIL CONDITION SHOWN. SEE | ,
"HIGH PROFILE SILL RAIL DETAIL” ON SHEET 6 FOR HIGH INSTALLATION CONDITION SHOWN —
PROFILE SILL RAIL CONDITION IN THESE SECTIONS IS FOR A v o 7
* STANDARD SILL CONDITION SHOWN. SEE "FLUSH SADDLE SILL SINGLE ANCHOR ROW CONDITION.
DETAIL” ON SHEET 7 FOR ADA SILL CONDITION E%RDTHI:IISNDOSUE%LED%T,%}I{ER Amm,
ROW_DETAILS” ON SHEETS 6 & 7 @) SECTION 296
SCALE: 1/2 FULL \5J SHEET O
(FOR HINGE DETAIL NOT SHOWN, SEE SECTION B/5) 5 o 8




EXTERIOR

CONTINUOUS
SEALANT BY SEALANT BY SILICONE SEALANT @
OTHERS OTHERS BETWEEN e
SUBSTRATE SEE GLAZING DETAILS MEMBERS
BY OTHERS ON SHEET 7 /@ %
PER "FRAME "
ANCHOR .- _ DN EXTERIOR | e ey St . Sy IRATE i DN /@ "
T5- \ T 53
REQUIREMENTS, D 33 : i) 'm.“ PER "FRAME D 53 | | EXTEROR] ||
5 B Nl ANCHOR ] i e~ g
' 1 REQUIREMENTS - = 5] y 8
- n TABLE" : n 3
7] @ @) - O r H
] 71 SECTION ] 7T 2
FRAM U T~ (N FRAM 2 / .
SCREW WITH | S SCALE: 1/2 FULL \6/ SCREW WITH SNG3 g ™= see ouazinG |2
WASHER PER’ " ’] i i 2 (FOR DETAIL NOT SHOWN, SEE WASHER PER% ‘] 5 3 DETALS ON
ELEVATION - i OTHER SECTIONS) ELEVATION nJEN Nl | SHEET 7
3/8" MAX. SHIM B0 \@ ' commuous: \—@—@
AT EACH ANCHOR FRAME WIDTH SILICONE SEALANT , o, _
SECTION /N 3/8" MAX. SHIM BETWEEN MEMBERS EES
SCALE: 1/2 FULL \8/ AT EACH ANCHOR FRAME WIDTH gL
(FOR HINGE DETALL NOT SHOWN, SEE SECTION B/5) SECTION /Y gfgu"%
SCALE: 1/2 FULL \ 6/ 29 )
CONTINLOLS SILICONE @ CONTINUOUS (MULTI-POINT LOCK HARDWARE SHOWN. DEADBOLT/FLUSH BOLT ;ggg
— SILICONE LOCK COMBINATI PPLI ==
SEALANT BETWEEN MEMBERS SEALANT @ EXTERIOR @ ON ALSO APPLIES) 2 BIEJ:J;:%
BETWEEN & ) 2l <oz
MEMBERS @\ /‘@ ) EXTERIOR £ 2R=
[ N Qg ] 7 ofg
| . EXTERIOR | I @l{ SILICONE: sucove || & [6
00 L ~ ‘ N SEALANT SEALNT || 3 |5
= . [l £
‘. o= Ol AN G m—— CAP BEAD \ o Ben0 | i JE
| o7 71 > e L 5[5z
\ £ K S (59 G = N |~ "\-SEE GLAZING @8 o A
> C T N Yl “\-SEE GLAZING AL DETAILS ON = EO o
DETAILS ON N SHEET 7 (9 o| Us.3
bt SHEET 7 o N& 0 ) 2| 5753
: Z L]
@ NG CONTINUOUS 0 ol &3 5,0
' \ SILICONE SEALANT & z| ¢ 857
BETHEEN SECTION /7 O o | BE 238
commgogs SILEICONE (33) - CONTINUOUS SILICONE MEMBERS SCALE: 1/2 FULL \6/ N 3= Egg
SEALANT BETWEEN SEALANT BETWEEN Eo |p02 o882
DEVBERS @32 @ T (FOR HINGE DETAIL NOT SHOWN, SEE SECTION B/S) (4 | El @) Fo [ERZ 85
% [ ¢ [3=8 %
SECTON /i 08
SCALE: 1/2 FULL \6/ —®
(DEADBOLT/FLUSH BOLT LOCK COMBINATION ON ACTIVE DOOR EXTERIOR 7_FRAME SCREWS PR OPTIONAL HIGI: PROFILE SILL RAL
SHOWN. MULTI—POINT LOCK HARDWARE COMBINATION ALSO APPLIES 3 s
) S ELEVATION (DOUBLE (FOR DETAIL NOT SHOWN, SEE OTHER SECT 2
SEALANT BY 5 SCREW ROW) =
OTHERS szl s | 15 :
S—— AT
Dxa, ~ .. E | &)
H N 5 Do
SUBSTRATE BY OTHERS . i s
I » 8" MAX. Al ,
PER "FRAME ANCHOR —~ 272 wax. |* GR“Z’){,T S ohoR m]n—w—
REQUIREMENTS TABLE”
DOUBLE ROW ANCHOR DETAIL AT SILL 1636 _1C
(FOR DETALL NOT SHOWN, SEE OTHER SECTIONS) 6 o 8




SUBSTRATE BY OTHERS PER
"FRAME ANCHOR REQUIREMENTS FRAME SCREWS PER ELEVATION EXTERIOR CONTINUOUS WOOD MEMBER LESS IN THICKNESS THAN A
d (DOUBLE SCREW ROW) 2X_ BUCK TO BE MIN. 3 1/2” DEEP (NOT REQUIRED WHEN .
- 3 SHIM SPACE IS WITHIN ALLOWABLE DIMENSIONS SHOWN IN &
. 9 SECTIONS). SUBSTRATE BY OTHERS
. PER "FRAME ANCHOR
,, 3/8" MAX. SHIM REQUIREMENTS TABLE"
L2 1/27 Ty AT EACH ANCHOR 10 WAL -
MAX. % EHN e
8 —— & 35 34 =
EJU Q Utgd f SENT B~ (7 2 FNisH SEALANT B g
3 = FLOOR BY FRAME SCREW |18
OTHERS : j OTHERS OTHERS OTHERS WITH WASHER 1€
A : 3/8" MAX. PER ELEVATION
/® / & "FRAME 5
SHIM OR R g
5 FINISH - eroUT AT REQUIREMENTS
EACH ANCHOR R
] FLOOR BY TABLE
OTHERS : !
SUBSTRATE BY OTHERS FRAME SCREW WITH WASHER PER o
PER "FRAME ANCHOR ELEVATION Sxz
REQUIREMENTS TABLE” w2,
S0~
EXTERIOR FLUSH SADDLE SILL DETAIL BT <3g
L (SWING DOOR SHOWN. FOLDING PANELS ARE INSTALLED THE SAME) EXTERIOR %8;"‘)
FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS ouls
DOUBLE_ROW _ANCHOR DETAIL_AT HEAD & SIDES (DOLﬁBLE SCREW ROW DOES NOT APPLY TO THIS DE)rAlL) OPTIONAL DIRECT MOUNT DETAIL J237
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) 70 SUBSTRATE WITH SPACER 9| 2853
(HEAD SECTION SHOWN. SIDES ARE INSTALLED THE SAME) WHEN A FLUSH SADDLE SILL IS USED, THESE DOORS ARE NOT oW SNl % SInEe ARE INGTAITE 2 <n2®
(HEAD SECTION SHOWN. SILL & SIDES ARE INSTALLED THE SAME) || Z | 252
APPROVED FOR USE WHERE WATER INFILTRATION RESISTANCE IS o =1 2c=
REQUIRED BY THE DOOR UNLESS UNITS ARE INSTALLED IN (FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) o 5%
NON—HABITABLE AREAS WHERE THE UNIT & THE AREA ARE (SINGLE SCREW ROW INSTALLATION SHOWN. DOUBLE SCREW Row || 2 [
DESIGNED TO ACCEPT WATER INFILTRATION OR THEY ARE ALSO APPLIES) g g
INSTALLED ONLY AT LOCATIONS PROTECTED BY A CANOPY OR oI
OVERHANG WHERE—BY THE OVERHANG(OH) RATIO IS EQUAL TO - E
OR MORE THAN 1.0 PER FBC. ey
g g8
= 5‘0 ©
PLASTIC HYBRID STAINLESS STEEL o | U8
2By
SEE GLASS OPTIONS BELOW —l |~ SEE GLASS OPTIONS BELOWT—‘ 1/2" 16. SPACER (TECHNOFORM =| 5268
PART NO. TIS0102) | 22 gsd
=z x _a&ny
40 39 = e °o2c
45 | bz Eds
LT £5 254
-l ] o
@\ 3/4" BITE 3/4” BITE £ 233 582
o] . '\_V
' P 3 f I% 38 ¢
YR L]
: \E;j ] e EXTERIOR oizde =
o
&8
NON—I.G. GLAZING DETAIL LG. GLAZING DETAIL b3
GLASS OPTIONS 1 & 2 GLASS OPTIONS 3. 4, 5 & 6 |8
 7/16" LAMINATED GLASS (3/16" GLASS OPTION 3: 1 1/8” 1.G. LAMINATED GLASS (3/16” H.5./0.09 KURARAY 5
(H;Lé\s/so (())QPTII(OUNRA}?AZ/SG/B/W" H.S) </ SG/3/16” H.S. INTERIOR; 1/2” AR SPACE; 3/16° TEMP. EXTERIOR) o
GLASS OPTION 2: 7/16" LAMINATED GLASS (3/16” GLASS OPTION 4: 1 1/8" 1.G. LAMINATED GLASS (3/16" H.S./0.09 KURARAY
'AN./0.09 KURARAY SG/3/16” AN.) SG/3/16" H.S. INTERIOR; 7/16" AIR SPACE; 1/4" TEMP. EXTERIOR)
e GLASS OPTION 5: 1 1/8” 1.G. LAMINATED GLASS (3/16” AN./0.09 KURARAY O
SG/3/16" AN. INTERIOR; 1/2" AR SPACE; 3/16” TEMP. EXTERIOR) 636 | O
GLASS OPTION 6: 1 1/8” 1.G. LAMINATED GLASS (3/16” AN./0.09 KURARAY ffellm
SG/3/16" AN. INTERIOR; 7/16" AR SPACE; 1/4” TEMP EXTERIOR) 7




ITEM #| ITEM DESCRIPTION MANUFACTURER/NOTES ITEM #| ITEM DESCRIPTION MANUFACTURER/NOTES
PARTS FASTENERS
1 |FRAME/STANDARD RAISED SILL 6063-T5 ALUMINUM 48  |1/8" RIVET 6 PER KICK PLATE -
2 [ADA/FLUSH SADDLE SILL 6063-T5 ALUMINUM 49 |ND. 8 X 1" SMS SCREW WITHIN 4" FROM CORNERS & MAX. 16" O.C. 3
3 |PANEL STILE /RAIL 6063-T5 ALUMINUM 50 |NO. 10 X 3/8” FH S.S. MS 4 PER HINGE
5 [SUDING POST 6063-T5 ALUMINUM 51 [3/16 X 1/4 S.5. SET SCREW 4 PER HINGE 3
6 |POST 6063-T5 ALUMINUM 52 |NO. 8 X 1 1/4” SMS SCREW WITHIN 4" FROM CORNERS & MAX. 16" O.C.
7 [NON-1.G. GLAZING BEAD 6063-T5 ALUMINUM 53 |[NO. 8 X 2 3/4" SMS SCREW WITHIN 4" FROM CORNERS & MAX. 16" O.C. ]
8 |.C. CLAZING BEAD 6063-T5 ALUMINUM 54 [NO. 8 X 1 3/4” SMS SCREW WITHIN 4" FROM CORNERS & MAX. 16" O.C. &
9 |KICK PLATE 6063-T5 ALUMINUM 55 |NO. 8 X 1/2" SMS SCREW 2 PER CLIP g
10 |STILE/RAIL_EXTENSION 6063-T5 ALUMINUM z
11 |STILE/RAIL EXTENSION 6063-T5 ALUMINUM 6.063 | g
12 |FRAME_CORNER KEY 6063-T5 ALUMINUM . &
13 |PANEL CORNER KEY 6063-T5 ALUMINUM S
14 |PANEL CORNER KEY 6063—T5 ALUMINUM 0.077
15 |REINFORCEMENT CLIP (4 PER POST; 2 EACH END) ss. 1.850 = 018 4 269 ——]
HARDWARE —
18 |UPPER GUIDING TROLLEY NEIDERHOFF OR DELLENBUSH 15-71-53-1 0.971 _| 0<07E9
ROLLER REINFORCEMENT WESTERFELD 15-73-78-X S.S. i o, _
19 |BOTTOM ROLLER & NEIDERHOFF OR DELLENBUSH 15-71-50-1 (2) ADA/FLUSH SADDLE SiLL (7) NON-1G. GLAZING BEAD 223
ROLLER REINFORCEMENT WESTERFELD 15-73-78-X S.S. 0.071 gEI0
20 |STEEL INSERT_ROLLER TRACK WELSER 5-66-09 |—2.165 —| 1 o501 ‘i Eigu“l%
21 |BUTT HINGE BURGHAUS 15-0-2210—190 DIECAST OR -t
IBW IDEAL 15-0-2227/8-120 S.S. Q\Aré; T I:__‘E] 0.067 4 l» égg"%
22 |CONCEALED 2-POINT LOCK EURIT SRL 15-0-2001-1 PN <o
23 |3-POINT MULTI—POINT_LOCK VBH GMBH 15-60—27—1 ® 3 2756 0.750 ‘EO-WQ ﬁ ce8
24| DEADBOLT VBH_GMBH_15-0-210—109 0.071 2.756 - f | 282
~
25 |OPERATOR HANDLE AS REQ'D TO OPERATE 2 & 3—POINT LOCK = (8) LG GLAZING BEAD || o, |5=
26 |OPERATOR HANDLE AS REQ'D WITH PUSH/PULL SWING DOORS @ o 3 0.067 :ﬁ: z |g
27 | CONCEALED 1—POINT LOCK EURIT_SRL 15-0-2001-1 5756 i 2
28 |CONCEALED 2—POINT LOCK WIHL. SCHLECHTENDAHL & SOHNE 15-0-218 0,071 | @mﬂ | [
SEALS & SEALANTS : 5 =
31 |WEATHERSTRIP DURAPROOF OR TREMCO 25-0-1052-195 . (5) sUDING POST ~____ 2638 4| x| ¢3
EPDM T 2.953———[ — 2] &S =
32 |PILE SEAL KULLEN GMBH 25-0-1065—171 POLYAMIDE 0.827 __ ol 98 =N
33 |COVER GASKET JAGEER GUMMI UND KUNSTSTOFF OR TREMCO | e si
25-0-1054—195 EPDM 0.719 E%E— 0.059 @) oEPTH 2| 5% 5ut
35 |FILLER SEAL DURAPROOF OR TREMCO 25—0-1084-155 13.016 T = 2.637 Z| 5887
EPou U - STILE/RAI (12) ERAME 2053 (9 DEPTH = R | 5gEes
36 |PANEL GASKET DURAPROOF OR TREMCO 25-0—1036-195 EXTENSION CORNER KEY b, .53 R H
EPDM Fo 202 E:E
37 |CONNECTOR DURAPROOF OR TREMCO 25-0-1056—195 228 2
EPDM —" 2.
38 |PANEL GASKET SYNCAMER GUMMI OR TREMCO (9) KICK PLATE 0827 22
25-0-1050-195 EPDM ui
39 |EXTERIOR GLAZING GASKET (DUROMETER = 56) TREMCO TX16702E EPDM e
40 |INTERIOR GLAZING GASKET (DUROMETER = 70) TREMCO 25—0—1007—X EPDM 0.020 s
41-43 | DEBRIDGING/THERMAL BREAK ENSINGER, INC., TECATHERM 66 GF {E
INSULBAR POLYAMIDE 2 118 o2
45 |GLAZING SHIM GLUSKE, PVC ui
46 |1/2° X 3 X 1/16" THICK GLAZING TAPE ADHERED TO FA. HINGE AS A SEAL
«‘ L 0.610
LENGTH = 0. 787




